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/18 3/2 3/2 xy2
— 2@—2:4@7—2
6
zf 1
_ (3) Jﬁﬁ+3_f—+3_ (/30 +3) X3
{75 5/3 5/3 %3
_J90+3/3 _ 3/10+3/3
15 15
_J10+/3
5
) 2BET () 2E1 () (1043
05 (1) /10 x2/5—6/28 +3/14
_ » 1
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05 (—4x+3)(1—7y)=28xy—4x—21y+ 30| =&
A=28 B=—21,C=3
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@& —(b+a)lb—a)=—(b"—a")
—d—B
8@

15 (x+4y)(x—4y)—(52+2y) (5x—2y)
=(x*—167") — (252" —4°)
=x'—16y"— 252" +4¢°
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2(x*—2x—8)+8x"—12xr+4
=2 —4x—16+8x"— 122 +4
=10x"—16x—12 B 10x"—16x—12
ASHA Y] vl Hi= £ HE jHeo|nE
sh= Alg A ] gylol=
2(x+2) (x—4)+2(x—4)(22—1)
+2(x+2)(22—1)
=2(x"—2xr—8)+2(22"—9x+4)
+2(2x°+32—2)
=20 —4r—16+4x"— 182 +8-+4x'+6x—4
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2) (2—{5)=(2)*—2xJ2 x/5+(/5)
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=A"+8A+16—(A*—8A+16)
=A"+8A+16—A+8A—16
=164

ufepa] 8k gk 16000]ct, E1 1600

09 (3/7+1)’=(3/7)°+2x3/7 x1+1°
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